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5. Let f(t) be an increasing, differentiable function.
Explain why the following slope field cannot

= f'(®)
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represent the differential equation n
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represent the differential equation

6. Explain why the following slope field cannot
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Consider the differential equation and its slope field.

given condition.

Describe all points in the xy-plane that match the
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When is = positive?
dy
When does — = —2?
dx
Answers to 7.4 CA #1
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6. Possible answer: Wheny = O'd_i, = 0. However, 7. All pOll’ltS wherey > 1. 8. All pOll’ltS that fall on the line

in the slope field, the slopes of the line segments

for y = 0 are nonzero.

y=—2x—1






